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QUESTION NO: 1 
 
Refer to the exhibit.
 
 

 
 
The exhibit shows an N-to-1 cluster configuration, in which nodes are connected to storage
devices via dual-hosted SCSI cables.
 
 
Why is this an inefficient configuration?
 
 
A. Storage should be shared by more than two nodes. 
B. Clusters should have at most two nodes. 
C. NAS is preferred over SAN for shared storage. 
D. NFS is the preferred way to share storage within a cluster. 
 

Answer: A

Explanation:  

 

 

 

QUESTION NO: 2 
 
An administrator is verifying the prerequisites of an application to ensure it can be placed under
Symantec Cluster Server control.
 
 
Which two prerequisites must be met to accomplish this goal? (Select two.)
 
 
A. The operating system automatically starts the application. 
B. The application is available to all nodes. 
C. The shutdown process should be graceful performing cleanup operations. 
D. The hardware administrative IP addresses are configured by Cluster Server on all nodes. 
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E. The shared storage is managed by Symantec Volume Manager. 
 

Answer: B,C

Explanation:  

 

 

 

QUESTION NO: 3 
 
While Veritas Cluster Server supports nodes in a cluster using different hardware or operating
system versions, this is potentially undesirable for which two reasons? (Select two.)
 
 
A. User security 
B. Inability to handle load on failover 
C. Cluster upgrades 
D. Operational complexity 
E. Network connectivity 
 

Answer: B,D

Explanation:  

 

 

 

QUESTION NO: 4 
 
What are two operating systems supported by Veritas Cluster Server? (Select two.)
 
 
A. Fedora 
B. Red Hat Enterprise Server 
C. openSuSe 
D. Mac OS 
E. AIX 
 

Answer: B,E

Explanation:  

 

 

 

QUESTION NO: 5 
 
What is a characteristic of the web-based installer?
 
 
A. It can be automated with a response file. 
B. It can be run using Internet Explorer, Firefox, or Safari. 
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C. It can install on multiple operating systems at the same time. 
D. It runs the same commands as the command line installer. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 6 
 
What is a feature of keyless licensing?
 
 
A. It works on all versions of Veritas Cluster Server. 
B. It requires an accessible Veritas Operations Manager (VOM) server. 
C. It requires that at least one key be installed on each cluster host. 
D. It must be enabled before installation of Veritas Cluster Server. 
 

Answer: B

Explanation:  

 

 

 

QUESTION NO: 7 
 
Symantec Operation Readiness Tools (SORT) provides which service?
 
 
A. It automates installation of product updates. 
B. It manages notifications for changes in patches. 
C. It stores operating system patches required for upgrade. 
D. It maintains common config files required for Disaster Recovery. 
 

Answer: B

Explanation:  

 

 

 

QUESTION NO: 8 
 
When run in a two node cluster, what does the lltstat -nvv command show?
 
 
A. only LLT information for the node the command was run on 
B. LLT information for all configured nodes in the cluster 
C. LLT information for any cluster nodes attached to the same switch 
D. only LLT information for nodes verified by Veritas Cluster Server to be active 
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